Bellwork  Alg 2B Tuesday, November 28, 2017

1. State the coordinates of the Center, Vertices, Cd—Vertices, and Foci.

(=72, G+62 _ |
196 441

Center:  Vertices: _Co-Vertices: —Foci:

Write the equation of each ellipse.

2. The Co-Vertices are (8,-2) & (8,-12) and a Focus is (-2,-7)
EQ:

3. A Vertex is at (13,-7). A Focus on the same side of the center as the given Vertex is at (13,-11). The
length of the Major Axis is 30.

EQ:
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3. A Vertex is at (13,-7). A Focus on the same side of the center as the given Vertex is at (13,-11). The
length of the Major Axis is 30.
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